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Special credit will be given for answers which are brief and to the poz’n?.-
Marks will be deducted for spelling mistakes, untidiness and bad handwriting.
Figures in the margin indicate full marks for the questions.

GROUP - A
A, EiRe emelEg Teg vie ( wteglofes ): 1 x 20 =%l

18 Computer -99 (9 Generation -4 &A%Y Transistor IO XF ?

a) oey b) fady
c) PO _ d ¢
2.  MaEes Qe CD-ROM-G9 4199 0] 30 ?
a) 700 MB b) 740 MB
c) 720 MB d) 4.7 GB.

3. fsa @ A AwOb 8-bit WEhe ?

a) ASCII b) BCD

c) EBCDIC d) ISCIL
4. (54)g +(36)g = (g

a) 100 b) 70

c) 112 - d) 102

. A@B="

a) A'B + AB' . b) AB+A'B!
c) AB+AB d AB' +AB.
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6.  x@ yul efg o¥ta Minterm 2@

a) 2 b)

c) 4T | d)
7.  Assembler ¥ @3

a) Low level language b)

c) Compiler d)

8. MS-DOS % @b

a) CUI (Command User Interface) b)

c) MUI (Machine User Interface)  d)

9. Visual Basic -9 @30 Variable name

8 f1

Translator

@53 77|

GUI (Graphical User Interface)

PUI (Program User Interface).

....... character -99 (M 30® AT 41|

300

400.

.vbp

a) 255 b)
¢ 355 i d)
10. (¥ extension b Visual Basic -@ Project file (KRS T<RE 41 TF 2
a) .frm ' b)
E) - gha d)

..vb

11. fysfafvesfi s @ Visual Basic -4 default data type ¥¥ ?

a) Integer b)

c) Variant d)

12. Visual Basic-@ ¥ Window % w15 f&s »

Decimal

String.

a) Integrated Development Environment Window

b)  Form Designer Window
c) Project Window

d) Project Explorer Window.

Command

13. Visual Basic-# (19 box I usér{?F set of choice o .9
a) List b)
C} ChECk d)
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14, FsERoskE 1w @G VB © 93 looping statement ?
a) For - Next b) If - Then
c) Switch - Select d) @=HEay|

5. MS-Word-a, fRsfaiReefm wuy (¢ Font Style @R A 2 &

a) Bold b) Italics
c) Regular : d) Superscript,
16. MS-Word-¢é Ctrl + S (9T
a) Save document with different name
b) Save document with same naﬁe
¢) Save document and close word application
d) Save document and print.
17. MS-Word 2017-@ ¥eda¥ T document-4 a%ib Table insert 1 IF ?
a) 2 ; B 4
¢ -3 kL) .l
18, fsfERe @Wh Page Margin 93 ?
a), Left b)  Right
c) Center d) po.
19, SeuE GG WRET I PN PI-E@IS HI0 25
a) - Ctrl +F3 : b) Alt+F4

c) Ctrl + Shift + F4 d) Ctrl + Alt + F3.

20. SINGTE HET 20074 Ao @ FEH A AT 2

a) Animations b) Page layout
c) Design d) Slide show.
21. ofeuE #2007 $IEUR (U outline/slide B SHS 7
a)  anifus b) TEwE
c) d) Office button -9 |
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GROUP - B

| } 8 1x14=14
B, frffirs erefr Gag me ( 7ra SusfeRse ) ( Frem erafi TR

1. O (ofd &% Super-computer -9 ¥ f& 2

w2l
LCD-@3 #jfioil® =) | |
2. Sifea& 39 : (E25:0B)6 = ()3
(Decimal -99 Q& 1 &)
o4t

(100110 ),-@% 2's complement <% T |
3. Truth table-a% & 11\ |
R
Truth table-4¥ 2 Commutative property &I P |
4. Simplifyd ¢ F=xy+ xy+yz |
5. F=xy+x'y’ -99 complement 7 7 |
6. flx,y,z)=n(0,4,7) -4 POS expression ¢4 |
ERITH
HNN TS xYy=X+Y.
7. Virtual memory -¥ & ¥1@ |
oql
Time sharing operating system 105 & IRl 2
8. Command Button Control -4% Soiforel 5 2
9. VB-(9 Constant declare 414 syntax T @1 |
: =Yql
VB.(® Switch statement-@¥ syntax b 14 |
L0, V.B.-49 project-a4 <&l (+14 |
LRG|

Visual Basic-€9 auto size property -93 I @ |

XI1(N)-30044(09) | COMA




198

12,

13

14.

5

While-wend @4¢ do-while -4 1 (@12 |

Hedl

Visual Basic-@ code (T4l <% edit 41 37 (¥ window-(, G4 ¥ @1 |

MS-Word 2007-d (@ tab-4 Macro command fo Qe 2

Tl

MS-word 2007-4 Footer-d9q Pler (@14 |

MS-PowerPoint-&@ Slide Transition <19 & @ 2

MS-PowerPoint-43 (&Il slide show 2% (AT wF 909 (@ function key fo

R A 7 ?

i

MS-PowerPoint-@ Quick access toolbar-a% 1S [ 2

¢

GROUP -C
o e se S M6 ( e e ) ( R amefT oA ) i 7x 535
1. a) | 59% G computer -4 fomifo caf=iey 7Y |
b) = Micro computer 4<% Mini computer g7 Wy qio ey @14 |
¢) Blet 14 ¢ Laser Printer . o B e
- _
a) PN &GEHR computer-a femfo cafi@r 1 |
b) Data Bus 9% Address Bus-&a% ¥ qfo ofrefer 13 |
¢) BRIER ¢ OCR D
2. a) CPU -ag Block diagram S ¥ @1 el 9 |
b) Cache Memory RIf4® ©I@ 39071 4 | (1+3)+3
=Ygl
a) Computer -9% 448G Von-Neuman concept <¢1CS & @l 2
b) DVD @42 Blue ray disc-49 34 g #11ef@y @19 |

ULSI -Eq 91‘%‘%% 1 | 4 + 2 + 1

| X1(N)-30044(09) COMA [ Turn over




a)
b)

c)

2’s complement method IRE B faae @98
(110011), ~(101101),

ASCII Code 3%t & (14 ?

%wams-ms}wﬂ?)z | 3+2+2
4l

fawfa@@l@ Positional number system IR 4 |

(=23);0 48 1's complement b % 3 |

@5 94 5 (1101), & (100 ), <1 | 3+2+2

NAND gate J192¥ ¥ OR gate tofd 9 |

F=% (0,2, 3,5, 7)-4< logical expression fo fefm 99 | | |

qTTT A+ 1=1, - | 2+3+2
4l

NOR gate I92F @ NAND gate (941 &9 |

Simplify ¥42 F = ABC+ABC+ABC+ABC

Truth table 3RAMN De-Morgan's theorem fb Rge o9 | 2+F+2

High level Language-a9 %6 (2@ 7% |

Compiler @3¢ Interpreter -a% &I A1LS] (=1L |

Multiprocessing operating system <9109 fo @i 2 I 2+3+2
<t

Cold Booting €<t Warm Booting &9 & LW &7 |
Twiz4eriz Utility software -9 <41 W@ |

Bulffering 3109 & (31 2 2+ (2+1)+2
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( English Version )

GROUP - A
A. Answer the following questions ( MCQ Type ) : 1 % 2% = 9]

1. In which generation of computers transistor was introduced first ?
a) First b) Second
c) Third d) Fourth.

2. The Common storage capacity of CD-ROM is
a) 700 MB b) 740 MB
c) 720 MB d 4.7 GB.

- 3. Which of the following number methods may be represented in a 8-bit

system ? l
a) ASCII b) BCD R
c) EBCDIC d) ISCIL . .

4. (545 +(86)g=(R)g - - el
a) 100 b) 70
c) 112 ' d) 102 )

5. A®B=7? %;ﬁt:._q
a) A'B+AB’ b) AB+A'B' '
¢) AB+AB ' d AB' +AB.

6. The number of minterms for two variables x and y are
a) 2 b) 3 .

¢ 4 d 8

7. Assembler is a
a) Low level language b) Translator
)  Compiler d) None of these.
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10.

11

12,

13.

14.
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MS-DOS is a
a) CUI (Command User Interface) b) GUI (Graphical User Interface)

c). MUI (Machine User Interface) d) PUI (Program User Interface).

In Visual Basic, a variable name cannot be more than ................ characters.
a) 255 b) 300
ey 355 d) 400.

In Visual Basic, which extension is used to represent project file ?
a .frm b) .vbp

c) .cls ‘ d .vb

Which of the following is the default data type in Visual Basic ?
a) Iritege;' . b) Decimal

c¢) Variant d) String.

What is the name of main window is Visual Basic ?

a) Integrated Development Environment Window

b) Form Designer Window

c) Project Window

d) Project Explorér Window.

Which box provides a set of choices to the user in Visual Basic ?

a) List b) Command

c) Check ; d)  Text.
Which of the following is a looping statement in VB ?

a) For - Next b) If - Then

c) Switch - Select d) None of these.

In MS-Word, which of the following is not a font style ?

a) Bold b) Italics

c) Regular d) Superscript.
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16. In MS—Worc;l Ctrl + S defines
a) Save document with different name
b) .\ Save document with same name
c) Save document and close word application
d) Save document and print.

17. In MS-Word 2017, how many types of process are there to insert a table in a
document ?

a 2 b) 4
o) S ' d 1.
18. Which of the following is not a type of Page Margin ?
- a) Left b) Right
c) « Cernter d) ' Top.
19. What is the shortcut key to close PowerPoint application ?
a) Ctrl+F3 ' b) Alt+ F4
c)  Ctrl + Shift + F4 d) Ctrl+ Alt+ F3.
20. Which of the following ribbon is not present in PowerPoint 2007 ?
q} Animations b) Page layout
c) Design d) Slide show.
21. Outline/slide tab is exist in which side of the PowerPoint 2007 ?
a) Left side b)  Right side
c) Below d) In office Button.

GROUP - B

Answer the following questions ( Short Answer Type ) ( Alternatives are to be

noted ) : 1x14=14

/ What is the name of first Super-computer made in India ?

OR
Write the full form of LCD.
2. Convert: (E25:0B)14 = (?)y

(Without converting in Decimal Number System)

OR
Find out the 2'S complement of (1001 10),.

[X1(N)-30044(09)
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/3./ Define Truth table.
: OR

Prove commutative property using Truth table.

4. Simplify F = xy + xy + Y2

ded
5 Find out the complement of, F =xy +X Y=

6. Write the POS expression for flx,y,z)=" (0,4,7).
OR
Prove that, xy = xX+Y.
/ Define virtual memory.
t OR

What do you mean by Time sharing operating system ?
8. What is the purpose of Command Button Control ?
9. Write the syntax of constant declaration in V.B.
OR
Write the syntax of switch statement in V.B.
10. Define project in V.B.
OR
What is the function of auto size prbperty in Visual Basic ?
11. Differentiate between while-wend and do-while.
OR
Write the name of the window in which you will write and edit the V.B. code.
12. In which tab macro command is exist in MS-Word 2007 ?
OR
Write down the function of Footer in MS-Word 2007.

13. What do you mean by Slide Transition is MS-PowerPoint ¢

14. What function key is used to start the slideshow from the be ining in
MS-PowerPoint ? &

OR

What is the use of Quick access toolbar in MS-PowerPoint ¢
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GROUP - C
C.  Answer the following questions ( Descriptive Type ) ( Alternatives are to be
noted ) : 7 x5=35
1. a)  Write three features of Fourth generation computers.
b) . Write two differences between Micro and Mini computer.
c)  Write a short note on Laser Prin.ter. 3+2+2
OR
a)  Write three features of Third generation computers.
b) = Write two differences between Data bus and Address bus.
c)  Write a short note on OCR. 3+2+2
2 a) Draw the block diagram of CPU and discuss it.
b) Discuss Cache memory is detail. (1+3)+3
OR
a) What do you mean by Von-Neuman concept in evaluation of
computer ?
b) Write two differences between DVD and Blue ray disc.
c)  Write the full form of ULSIL 4+2+1
3 a) Substract the following using 2’s complement method :
(110011), — (101101 ),
b) What do you mean by ASCII code ?
c)  Convert the following : (73:123 },,=(?), G 3+2+2
OR
a) Discuss Positional Number System in detail.
b}  Find out the 1's complement of (- 23 ),,-
c)

Divide ( 1101 ), by (100 ),. 3+2+2

XI(N)- '
|X1(N)-30044(09) | COMA [ Turn over




12

JConstruct OR gate using NAND gate.

Find out the logic expression of, F=X (0, 2, 3, 5, 7)

Provethat,A+1{; 1. ] 2+3+2
OR

Construct NAND gate using NOR gate.

Simplify: F = ABC+ABC+ABC+ABC.

State De-Morgan's theorem using Truth table. 2+3+2

Write two characteristics of high level language.

State the differences between Compiler and Interpreter.

What do you mean by Multiprocessing operating system ? 2+3+2
OR

State the differences betﬁveen Cold Booting and Warm Booting.

Discuss Utility software with example.

What do you mean by Buffering ? g & Jd- 1) ¥ 2




